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 This method needs a stream key and it must be the same length as the plain text and if it is 
less then we repeat the characters of the stream key in succession. 

 Example: encrypt the plain text (I LOOVE PEANUTS) if you know that the stream key is 
(BANANA) using the Vigenere algorithm. 

 

plain text : I LOOVE PEANUTS 

stream key : BANANA 

 
Note in the above example we doubled the stream key to be the length of the plaintext. 
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Encryption The plaintext(P) and key(K) are added modulo 26. 

   Ei = (Pi + Ki) mod 26 

 

Decryption 

   Di = (Ei - Ki) mod 26 
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